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Test One

R#E— PAPER ONE

Part 1 Listening Comprehension (20 minates)

Section A
Directions: In this section, you will hear 10 short conversations. At
the end of each conversation, a question will be asked
about what was said . The conversation and the question
will be spoken only once . After each question there will
. be a pause. During the pause, you must read the four
choices marked A), B), C) and D), and decide which
is the best answer . Then mark the corresponding letter
on the Answer Sheet with a single line through the cen-
tre.
Example: You will hear :
You will read :
A)At the office.
B)In the waiting room.
C) At the airport.
D)In a restaurant.
Sample Answer [A][B][C][D]
From the conversation we know that the two were talking about
some work they have to finish in the evening. This is most likely to
1



have taken place at the office. Therefore A)“At the office” is the

best answer . You should choose answer [ A] on the Answer Sheet

and mark it with a single line through the centre .

1.

A)The woman shouldn’t be so anxious.
B)He is already an hour late.
C) The woman shouldn’t wait to be interviewed.

D)He is too nervous to calm down.

. A)Because you must take the stairs.

B)Because nine is an odd number.
C)Because the elevator got stuck.

D)Because there are too many people in the elevator.

. A)One baby. C)None.

B) Three women. D) Three women and one baby.
A)Yes, but not at a special low price.

B) Yes, at a special low price.

C)No, they are not for sale.

D)No, there aren’t any rugs left.

. A)A rain coat. C)Some advice.
B)A ride. D)A present.
A)Cows and pigs. C)Cows and bees.
B)Chickens and bees. D) Chickens and pigs.

. A)He doesn’t understand it.

B)He likes it very much.

C)He is used to it though he dislikes it.

D)He doesn’t like it and wants to give it up.

A) At the restaurant. C)At the station.

B) At the theatre. D)At the drugstore.

A) That Peter is unkind. C)That Peter will help.

B) That Peter can’t help. ‘D) That Peter wants money.
2



10. A)At 8 pm. C)From 7 to 8 pm.
)After 8 pm. D) Tomorrow.
Section B,
Directions: In this section, you will hear 3 short passages. At ci
 end of each passage, you will hear some questions . BOt}'l
the passage and the questions will be spoken only once.
After you hear a question, you must choose the best an-
swer from the four choices marked A), B),C) and D).
Then mark the corresponding letter on the Answer Sheet
S —————————
with a single line through the centre.
Passage 1
Questions 11 to 13 are based on the passage you have just heard.
11. A)A large office building.
B)A big warehouse.
C)Six apartment buildings.
D)A hotel.
12. A)It was caused by a faulty electrical connection.
B) It was caused by the mishanding of some cigaratte ends of
owner of the warehouse.
C)It was caused by some boys playing fire.
D) The reason is unknown.
13. A)More than ten thousand dollars.
B)About five hundred dollars.
C)Less than five thousand dollars.
D)Around a million dollars.

Passage 2
Questions 14 to 16 are based on the passage you have just heard.
14. A)For his boss. C)For himself.

B)For another person. D)For a big company.



15. A)Her own business.
B)Her husband’s health.
C)Taking a vacation with her husband.
D)Her own health.
16. A)She told him a good news.
B)She told him that the vacation was over.
C)Things were getting along well with his business.
D) She told him that something terrible had happened to his
business.
Passage 3
Questions 17 to 20 are based on the passage you have just heard.
17. A)To eat dinner with the guard outside.
B)To go out without wearing prisoner’s clothes.
C)To go out without any guards.
D) To work on the farm every evening.
18. A)Promise to return each evening.
B)Promise they will come back in the evening.
C)Nothing.
D)Get dressed and eat breakfast.
19. A)He lost track of time.
B)He ate dinner with the farmer.
C)His car broken down.
D)He had no reason.
20. A)The prisoner came back.
B) The prisoner woke the guard up.
C)The prisoner failed to come back in time.

D) The guard was prevented from leaving early.

Section B, Compound Dictation
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Directions: In this section, you will hear a passage three times.
When the passage is read for the first time, you should
listen carefully for its general idea. Then listen to the
passage again . When the passage is read for the second
time, you are required to fill in the blanks numbered
from SI to S7 with the exact words you have just
heard . For blanks numbered from S8 to S10 you are re-
quired to fill the missing information. You can either
use the exact words you have just heard or write down
the main points in your own words. Finally, when the
passage is read for the third time, you should check
what you have written .

Many years ago there lived a very rich man who wanted to do

something for the people of his town. But first he wanted to find out )

whether they (S1) his help.
In the center of the (S2) road into the town he placed
a very large stone. Then he (S3) behind a tree and waited.

Soon an old man came along with his ($4)

“Who put this stone in the center of the road?” said the old
man, but he did not try to remove the stone. (S5) , with
some difficulty he ($6) around the stone and continued on
his way. Another man came along and did the same thing; then an-
other came, and another. All of them (S7) about the stone
in the center of the road but not one of them tried to remove it. Late
in the afternoon a young man came along. He saw the stone and
said ;

“(S8)

”

The young man then began to move the stone. (S9)



C

How great was his surprise at last when, under the stone, (S10)

Part [ Vocabulary and Structure (20 minutes)

Directions: There are 30 incomplete sentences in this part . For each
sentence there are four choices marked A), B), C) and
D). Choase the ONE answer that best completes the sen-
tence . Then mark the corresponding letter on the Answer

Sheet with a single line through the centre .

21. He is constantly not to do that, but he still goes on
doing it all the same. ’
A)telling C)being told
\B\}.’(old D)having been told
22. The necessity for more wage for food has lowered the
standard of living.
A)to be paid C)to pay
B)paying D)being to be paid
23. Social reformer Jane Smith a prominent role in the

foundation of the National Progressive party.

A)playing C)played
B)who played D)to play
D24. If1 George had wanted to get up early, I would have
woken him. . ,&/ '
A)knew K@ r)&:"'{) C)have known
B)know ~ had known

DZS. The job would require that he at the laboratory at 8
6



every morning.

A)will be C)be

B)would be D)is
26. You all the trouble had you known he was not there.
9 A)mustn’t take _C)needn’t take
B)mustn’t have taken D)needn’t have taken
27. The idea for the new machine came to Mr. Lane to
work last week. SO
A)as he drives %hile driving
B)while was driving D)when he has driven
28. He said he felt bad because he late the night before.
A)sit up C)has sat up
B)was sitting up Djhad been sitting up
29. We are familiar with the idea all matter consists of
atoms.
A)which O{hat
B)where D)whose
30. He spoke of the peasants and the villagers he had vis-
ited./
Q}(ﬁat % which
B)which D)where -
A31 . The girl in the red hat is the person I've been waiting
to see.
A)very C)same
B)rather . @j‘ﬁst
32. You can fly to New York tl'}is afternoon you don’t
mind changing planes in San Francisco.
Mrovided C)except
B)so far as D)unless



D33

conditioning 1s sale by/the owner.
A)in Q)Zt
B)to D)for

34. He told his wife as little as possible, she spread the
news all over the town.
A)if Qy{est ‘
B)so that D)even if

35. has stopped moving resists being moved again.
A)The thing What
B)One D) Which

- 36.——“What is she?” “She is L7
A)a singer and a dancer C) the singer and the dancer
B)a singer and dancer D)singer and dancer
A37. He keeps all his documents in a box.

A)strong black metal C)jtrong metal black
B)metal strong black D)black strong metal

38. |/ he is not in good health, he often helps others.

While C)Since

B)When D)Now that

39. Do you know why John didn’t at the party yesterday
evening?
A)show off C\%how up
B)show down D)show in

(’40 .Badly beaten, the intruders in disorder.

A)fell off : C)fell back
B){ell out DXfell away

41. A university is an educational institution which awards degrees

A new car in excellent condition with “whitewall tires and air

and research.
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42.

43.

. 44,

45.

46.

47

48

49

%rries out C)carries off

B)carries through D)carries about

Hospital doctors don'’t go out very often as their work
all their time.

A)takes away C)takes over

B)takes in Q/alies up

When you buy anything expensive, you should ask the dealer to

give you the

A)remedy C)reference

B)render DJreceipt

The album is as it was the only one ever signed by the
president.

A)ynusual C)rare

E.)Znique D)singular

Mary wanted to go to New York by herself, but her parents

would not give their

nsent C) content
B)contact D) contract
The prize went to a doctor in that hospital.
istinguishable \C)/l{stinguished
B)distinguishing D)distinguish
. Mr. Kent must work out his projections in great
etail C)part'
B)element D) consideration
.I'll send somebody to you at noon.
@()/ relieve C)release
B) relief ubstitute
. Peter a car from the garage for the afternoon.
\A)'Kires C)employs



.
-

B)leases | D)engages v
50. The crafty salesman was able to my friend to buy a

new car, even though my friend did not need one.

A\)}énvince "~ C)guide

B) advise D)lead

Part 1 Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is fol-
lowed by some questions or unfinished statements. For
each of them there are four choices marked A), B), C)
and D). You should decide on the best choice and mark
the corresponding letter on the Answer Sheet with a sin-
gle line through the centre.

Questions 51 to 55 are based on the following passage:

The development of Jamestown in Virginia during the secon;_i
half of the seventeenth centﬁry was closely relat‘ed to the making and
the use of bricks. There are several practical reasons why bricks be-
come important to the colony.

Although the forests could initially supply sufficient timber, the
process of lumbering( ¥4X) was extremely difficult, particularly be-
cause of the lack of roads.

Later, when the timber on the peninsula(¥: &) had been de-
pleted(#R), wood had to be brought from some distance. Building
stone was also in short supply. However, as clay was plentiful, it was
inevitable that the colonists should turn to brick-making.

In addition to practical reason for using brick as the principal
construction material, there was also an ideological reason. Brick rep-
resented durability and permanence. The Virginia Company of Lon-
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don instructed the colonists to build hospitals and new residences out
of brick.In 1662, the Town Act of the Virginia Assembly provided
for the construction of thifty-two brick buildings and prohibited the
use of wood as a construction material. Had this law ever been suc-
cessfully enforced, Jamestown would have been a model city. In-
stead, the residents failed to comply fully with the law;and by 1699
Jamestown had collapsed into a pile of rubble with only three or four
habitable houses.
51. In the first half of 1600’s, most buildings in Jamestown were

probably made of .

A)earth 94!00d

B)stone D)brick

2. Which of the following was NOT a reason for using brick in
construction?
. A)Wood had to be brought from some distance.V’
B) There was considerable clay available /
) Phe lumbering process depended on good roads.

D) The timber was not of good quality.
53. It can be inferred from the passage that settlers who built with

bricks in the 1600’s were

A)pldnning to return to England

\j&){ concerned about durability

C)obeying the laws

D)interested in large residences _
54. It can be inferred from the passage that prior to the action of the

Virginia Company of London, Jamestown had an insufficient

number of §
A)colonists , C)clay sources
B\)/n’ledical facilities D)bricklayers
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